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i Deline c\ponemiul ¢quation. SN PR ) NS )
. Solve: x*42x=2 xrax=2 2 (D)
: Solve the cquation by using quadratic formula: 552 +8x+1=0 25 F = 1L ursbGond et (i)
] Find the discriminant: 9x® + 25 = 30x 9x? +25=30x :“é-(:l“sdfu"/' Giv)
: Lvaluate: (9 +dw+ 40® ) 9440+ do?) Fead (V)
! Write the quadratic equation have these roots: 2, -6 2. —6:C‘:g._-.fpi.--d'..amdhu"uéé,‘.: (vi)
cha Define proportion, -c‘:.:-aé’;tfuf&' (vii)
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: Find a fourth proportional to: 15a°b® . 10220 , 21a%D? 152°% , 10a%° @1a’b? 2.;’,{(: "B (ix)
12 Write short answers to any SIX parts. _Qa;rzﬁ?.{.,;zugc,df
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Gt P + 1, FaeAye Bl A=l 2. B={2, 3} ()
IFA={,2},B={2, 3} and I ={{x. )= x + 1, Yxe Ay e B} find Dom Fand Rang
SSEe ACBIeA=(L A3 45 6 B={2 46 8 ()
IfA={l, 23 4, 56 [B={2, 4 0 8}find A-B
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Find the median: \12,6,7, 3, 15, 10,18, 5 12,6.7.3, 15, 10,18, 5 "":(;"".:w»;fviii)
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Define non-collinear points. ng ’_/ ”_'2‘9 _‘:_f‘:’»;_,;d’j’ms(?lg' (vi) .
Define in-center. ~-;-‘.’=J-?j;lf?(/m"' (vii) =
-Eep AL ntyiid)
2 Bty Sem \)UJ&‘LJ‘&{""J:I (ix)
The Tength of each side of a regular octagon is Sem nieasure its perimeter.
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Part - 11, Attempt any THRER guestions. Each question carries 08 marks.

Define radius ol circle.

Question No. Y is compulsory ——
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04 Solve the equation: X' 54 = lax? xtS54= le-‘:_L.‘f':J’:'.:nw () 3
0d _uset =at(l+ nf)z"lf,u;:.;l,:fs,.:i & 1 (mx +e)f =t et/ Eel ()

’ o 2 2
Show that the equation x* -+ (mx +¢)’ = a? has cqual routs if ¢* =a*(14+m”)

04 u=6 g wiru=3 Lw=S5 png 5 et WL () -6
Ifw varics inversely as the cube of u and w = 3, when u = 3. Find w when u 6.
04  Tind the partial fractions ot —— L _'--irl- — j—ﬂ.l——'-g‘i;ri‘"n'fdsz fed
(x+3)x"+1) (x+3(xawl)
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IFU=1{1,2.3,4,5.6.7.8.9, 10 A= {1.3.5 7, 9B/ R.3. 5. 7} then verify
(ANB)=A'"UB'
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The length of 32 items are given belowd IFingd stindard deviation.
Length J4/ 20~ 028~ 25 | 26-28 | 29 31 3234
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_;.i."/'"..if"“,l:,"!r" ,;}nf)c.:.? /J.’_r_...flsfggc.-.;? Y
Prove that perpendicular from the center of a circle on a chord bisect it.
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of a minor arc of a circle, is double that of the angle

prove that the measure of a central angle
subtended by the corresponding major arc.

1013-X124-85000 /5

(ClamScanner

BT § 'nra ' Ansses s




